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General Instructions :

(1) All questions are compulsory.

(i)  The question paper consists of 31 questions divided into five sections A, B, C, D and
E. Section-A compnses of 4 questions of 1 mark each, Section-B comprises of 6
questions of 2 marks cach, Section-C comprises of 8 questions of 3 marks each and

Section-D comprises of 10 questions of 4 marks each. Section E comprises of two
questions of 3 marks each and 1 question of 4 marks from Open Text theme.

(i)  There is no overall choice.

(iv)  Use of calculator is not permitted.

TIUE-37 / SECTION-A
o¥ HE 1 | 4 1 welds #1356 ¢
Question numbers 1 to 4 carry one mark each

1 mmmmﬁwt“nxwaﬁmﬂmt,afaz-v--w.-_f?.':?a—-m1

XY + YZ +2X=11.5cm ¥1"
Do you agree with the statement “aXYZ can be constructed, if JY=00°, £Z=75" and
XY+ Y7 +ZX=115cm.”

2 afz us aea %1 o # mm-am:imrhhqqmm&mm,?hmmwmaﬁﬁw 1

In a cylinder, if radius is halved and height is doubled, then find its volume

3 mlua%uﬁ!*mm'qﬂrmﬂﬂmmmmaﬁfm1
Find the mean of all positive factors of 18
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The types of clothes preferred by the females in the age group of 22-35 years are shown in
the following graph :

i i1
i l
3 _r-,_!;—ﬁ

Find the ratio of females preferring jeans to the females preferring suits.
TUE-H / SECTION-B

WY GEA1S A 108 W F & 2 HF ¢ )
Question numbers 5 to 10 carry two marks each.

APQR # AQSR 1 TH & SMR QR ® 3 £PSQ=/RQS ¥ afE ar (APQR) = 12cm?2 &, @ ar 2
(AQSR) F1d ®ifS |
P

APQR and AQSR lie on same base QR. Also, #PSQ = /RQS. If ar (APQR) = 12 em?, find ar
(AQSR).
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Whatﬁhnu]d be the length of the third side of an isosceles triangle if the length of the other
two sides are 5 cm and 11 cm. Justify your answer. '

7 el wwamis pQRS § faadf PR 3N QS TR O W fired & afz  pRQ=50"%, M £PSQ TW 2
wifera |

In a rhombus PQRS, diagonals PR and QS meet each other at O, If ZPRQ =507, find £P5Q.

8 ST B 3.5 cm 3 9 12 cm 9@ UF H et semmia el awdt 2 2

How much ice~cream can be put into a cone with base radius 3.5 cm and height 12 cm T

9 wF = H, e wEEt @ W gl # 9 (kg W) FE v d ¥ 2 797, 7.05,7.08,6.03,7.00,6.06, 2
6.08, 6.04, 6.00, 6.98, 7.15, 7,34, 7.23, 6,94, 7.12 | W 7 Fifora, % = T4 ™ #H F: W

7.1kg & sfus 1

In a store, bags of coal powder each contained the following weights of powder (in kg) : 7.97,
7.05, 7.08, 6.03, 7.00, 606, 608, 6.04, 6.00, 6.98, 7.15, 7.34, 7.23, 6.94, 7.12 kg. Find the
probability that any of these bag chosen at random contains more than 7.1 kg of coal powder.

10 mmqﬁaﬁmﬁaﬂ%mwmmmmmmaﬁﬁmﬁﬁf#aﬁﬁﬁmm%m 2
feq M
i (5w $9 | %ad R | o - Fo awa e | w1 e

& yHH g & fau |m€5ﬁ—m gt g9 |

et | 860 | 370 250 120

= wen |

ﬁﬁﬁmﬁmmﬂﬂwm%'bmmmﬁmw%@mﬂ:

(a) 2l WER F At

® ¥ w97 ¥ fau e
1500 families were surveyed and following data was recorded about their maids at homes :

Types of | Only part | Only  full - | Part time and full | None
maids - time time time W !
"Nos. of | 860 370 250 20 1|
maids - | ;
ty that the family selected has

A family is selected at random. Find the [ﬁrzj.l.};t"rili
(a)  both types of maids
(b) has part - time maid

WUE-W / SECTION-C
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Question numbers 11 to 18 carry three marks each.

el
% W 47 8 e @ 7w form T El o

1 30 et | e 120

' 74
Mean of 30 observations s 12 Dmobmv.umt?wummﬂdﬂ

mean

12 fat %1 ve ofaen # uE A% g snfde sw rmwwn
17.2.7.25.25.5.14. 18, 10. 24, 10,8, 7, 10

P = ¥ o oana,

s sh agEE 7 it

The points scored by a team in a series of matches are as follows
17.2.7.25,25,5.14. 18,10, 24, 10,8, 7, 10
Find mean, median and mode for the data.

13 mzﬁw‘rzmm~ﬁﬁpml‘ﬁ1nnm-ﬁgqhuﬁQR-RXt.*i'lmftll’ 3

(AXRZ) =ar (AQYP) b1

Y Pz

Hats off !

Find the corrected

In AXYZ, P is the mid - point on side Y7 and Q 1s the mid-point of XY. If QR = RX, show that
ul&XRZ}x-ﬂ (AQYP)

R
Q

Y P z

14l A, §= O FW g9 #} A A AB 3R CD, O B #H9M: 6 cm 3 8 e T gt w oo &1 3
% 77 #t 55 10 cm 8, A 77 sl 71 awt W #iwg

AN

D
lnihel‘-igure.ABandCDarehwochurdsofadrclewimcenh-eoatdistnncesufﬁcmandst:m
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re.sely from O. If the radius of the circle is 10 cm, find the lengths of the chords.

15 T YETETE A= 5.6 cm W) g A T 120° 1 FI0 v #) werm A wifar ) 3@ g A 3

THE {9 i)

Draw a line segment AB=5.6 cm. At point A, construct an angle of 120°, using compass. Now
construct its supplement at the point A.

16 wgha A, e gEiE g

PQRSﬁngsmm-ﬁgx%mﬂﬁmpx ¥ AaieR @@=t T3

mmﬁymwmnﬁspﬁzmwwmmwﬁm -pz R RY=YZ &I

R

5 /X
% y
P Y Q

; i i i i f a parallelogram PORS. A line through R
the figure, X is the mid-point of the side RS of a p: g, C t
Ipr;ral?ellto X intersects PQ at Y and SP produced at 7. Show that PS =PZ and RY=YZ.
5 R

L

17w g PQR F T iforg, Fred i s 233 % agam A & qen Fase & oMY 24 cm 3

Z

gl

Construct a A PQR, in which the three sides are in the ratio 2 - 3: 3 and the perimeter of the

triangle is 24 cm.

18 UF MW H gHG TIWFE B,

fora d 24 cm, 18 cm 31 4 cm ¥ § Feemet 06 W S 3

WIW“"HW - ! 4 is recast into
A solid piece of metal, cuboidal in shape, with dimensions 24 cm, 18 cm and 4 cm
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WYY-Z / SECTION-D
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19 wmmamqmmmmwm 4
T (Kg H) 045 | 4550 ' .
CoLT :P—‘[ e
F_.._..Tf';'___::; EE 15 [12 5
cnstruct a histogram and frequency polygon for the followin trequency distribution -
E:"M_"‘ L8045 4550 5055 ”ﬁ?‘%‘&i 65-70

o mmﬁu? 5 3 = 15 5
APQR TR E Q| XY, PR | Xz PO-XY M & aft PR=xz b, 1 vy 4

*ﬂu{a:am “ar{AXYZ) B

AX
Y

[ /N
i’
Y i

¥4
APOR and AXYZ ane such that I'Q XYy, PR x7 and PQ - Xy

'ﬂ-\l".{f) = ar(AXYZ7)
\'u

It PR=XZ7, then show that

H o W 2w s % ma e e
- ﬁﬁ
Prove that the line joining the mjd_mm‘f"{ A T q’ﬂﬁiiﬁﬂmmh

4
the centre of the ircle. of two parallel chords of a circle passes through

22
AABC #1 T3 Fifrg, famd gc=47cm, <B=45"3MAB_AC=7 em B
Construct a AABC in which BC=47cm, <B=45and AB-AC=2¢m

23
ABCD ©% aweia & g ABJICD, AB=15cm ai'ncn=1nm%| X
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24 B A T8 3 s wogy A1 Y9 UE S wed f n, fre s 5 21 cm 4
s F=d 08 om it I3 witm wfwrdl # 7 om BN am seitiern w9 § g9 9 OF S
feat1 e anfardi 1 qy fa e 2 @0 & 50 7 A qu 9 w1 e ad B2

On his birthday in the month of January, Harish distributed soup. He had it in a cylindrical
bucket with base radius 21 cm and height 98 cm. He distributed the soup in a hemispherical
bow! of radius 7 ¢m to the poor people and also gave a blanket to them. How many people
were served the soup ? What value do you learn from Harish's act ?

25 ATl % g g s a4 25 B 4
(@) 3% s w1 S
(by  afz 2t #1 faemst &1 9m 26 om ¥, @ 9= AR F) frmn am wifAw)

Surface areas of two spheres are in the ratio of 64 : 25,
(a) Find the ratio of their volumes.
(b} If sum of the radii is 26 cm, find the radius of each sphere.

26 Fﬁquﬁ%qrg%tm’r?ﬂaﬁ\{miacm,um‘rmﬁcmtaﬁfmxﬁmﬁmmmw:z;’f'z 4
Tl ahe & T & wyvl gy el # or{uId 7 i 7
A bigger cube is formed from the material obtained by melting three smaller cubes of 3 cm, 4
em, and 5 cm side. What is the ratio of the total surface arcas of the smaller cubes and the

bigger cube ?

27 afz uF A=A A faen g i SErd &) ana e am, A fe § widea st E 4
(a)  AF YA HAF |
(b) AT
If in a cylinder, radius is doubled and height is halved, then what is the percentage change in

following :
(a) curved surface area
(b) volume.

28 uH Zae FOE F U@ 100 A aGwE ¢, W fF 99w fafvs 2vidie s w oA o 8 6
9w At @A AwEl g AR @ (ke ®) T w0 % A fam omn fadm e
[z (km®) |75 km % | 115 km #|150 km # 200 km # |

A an s ars

T el #1130 47 3 1w
fen | | 1

S —— e ———i

wifawar 7 HifY & a5=2m 0 ™ Aw aEs
(3  BOkm T HA F uTar famm w2
(b)  115km T & & yvAH famy @ &
() 155km ™ & % 9yl famm w1 §
(d)  200km T F F yEH fam w2

A travel company has 100 drivers for driving buses to various tourist destination. Given
below is a table showing the resting ime of the drivers after covering a certain distance (in

Page 7 of 8
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km). _ o
Distance (inkm) | After 75| After 115 | After 150 After 2oo|

km km km km __j
| No of drivers 13 A LU

What is the probability that the driver chosen at random ;
(a) takes a halt after covering 80 km

(b)  takes a halt after covering 115 km

(c) takes a halt after covering 155 kin

takes a halt after crossing 200 km

WUT-7/SECTION-E

("% 918 /Open Text) _
(*gum yhfrm s d 5 sedem faeg &) qae i 8 yrTs & wy god )
(* Please ensure that open text of the given theme is supplied with this question paper.)

frvg Sl @va s} faaet @1 faq

Theme : Energy Consumption and Electricity Bill

e ik 4= ¥ e, 200 31 400 s & A #) faoelt @) wfas @va & e ofEem FE F 3
ferg, YFas wetT W Hifo )

Obtain linear equations to calculate the monthly bills for consumptions of electricity between
200 units to 400 units for Mumbai and Chennai.

¥4 200 W A & faem fiiet 1 wfa foA o 72 wam fFm w8, 7@ 38 uE thas aviet g 3
frefua wifam my €, 3o 3w @ ag g fagar 1 g oft 3 Fifse

Represent as a linear equation when a 200 W Mixer Grinder is used for y hours in a day. Also,
find the consumption by its usage daily and in the month of September.

U TS F &S 1.2 kw & | @wa Fi T8 sEEd B pan A R w Imm R W m e g, A9 4
et o tfaw gt fafae) s s gifan)

A geyser has a load of 1.2 kW. Taking 'p’ as number of units consumed and 'm' as the number
of hours for which it runs, write a linear equation in two variables. Draw its graph.

<ofloloo.



